
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

5th Month, 3rd Week, 4th Day Exercise. 4.3 Complete

//// Answer the following questions. ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX

(i) Construct an isosceles triangle, in which the measure of the two

congruent sides is 6.4cm each and measure of their included angle is 30° (5)

30° vvvv¢¢¢¢aaaaììììZZZZzzzzggggZZZZyyyyÆÆÆÆiiiiZZZZzzzz----VVVVÅÅÅÅeeeeöööö 6.4 ZZZZqqqq----))))zzzz~~~~ZZZZ————::::[[[[CCCCNNNNTTTT~~~~ŠŠŠŠzzzz§§§§zzzzZZZZHHHHqqqqÅÅÅÅeeeeöööö
ììììXXXX

(ii) Construct the following triangle with the help of a ruler and a

protractor. (5)

eeeeääääZZZZzzzzgggg6666,,,,zzzz""""5555¿¿¿¿....çççç HHHH
GGGGHHHHÅÅÅÅææææŠŠŠŠÐÐÐÐŠŠŠŠgggg̀`̀̀ffffssss[[[[¯̄̄̄NNNNXXXX

(a) ∆ABC, when mAB = 5.8cm, mBC = 3.6cm and m∠B = 30°

(b) ∆PQR, when mPQ = 4.8cm, mQR = 4.8cm and m∠Q = 120°
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